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[ Attempt the following:-

a) Differentiate between resolution, bjt depth and aspect ratio
b) What is Vanishing point, interpolation?

c) Discuss the role of frame buffer and graphics adapter?
d) What is view plane normal?,

e) What is inside outside test? Discuss its role in computer graphics. (5x2)

UNIT -1

Il. a) Explain the principle of Bresenham's [

ne generation algorithm. Use it to rasterize
the line from (3, 5) to (13, 9).

b) Discuss DDA arc generating  algorithm. Explain some advantages and
disadvantages of the DDA method. (2x5)

Il a) Differentiate between geometric and coordinate transformation with example. Also
illustrate the application of composite matrix transform and h(')moge:nous
coordinates using geometric transformations on a triangle (sample graphics object).

b) What is Aliasing? Discuss various anti-aliasing methods. (2%3)

in clipping i i hen Sutherland algorithm
IV. &) Explain clipping in a 2D coordinate system? Use the Co : .
)toxgiplr:v:c; I;E'lesg P1(40,15)-P2(75,45) and P3(70,20)-P4(100,10) against a window
A(50,10), B(80,10), C(80,40), D(50,40).

i ion, Flood fill, Shadow mask CRT.
b) Explain: Window to Viewport transformation, o
UNIT =11

? i viewl ameters?
v. a) What is 3D viewing. What are the various 3D viewing par - o
Xplal i i D din stem and deTny
b) E pl in the rotation transformatlon in 3D coordl ate sy h (2x5)

1 atﬁces‘?
transformation m P.T.O.




VI.

VII.

Sub, ¢
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a) What are Splines? Write any four differences between Bezier curye,
curves,

b) What are projections? Explain the characteristic of various Kindy Projegy,
Iy,

Y ¥ stecti methods categorizeds 1 u“)

a) How are the various visible surface detection s categorized? "‘"Plnin, /
Yith

suitable examples.

b) Discuss the Z-buffer algorithm and explain the data structure used f, .
implementation. (235)’-3

X-X-X



